Emailto:  orders.denver@metalsales.us.com Fax to: 1-800-289-1617
Standing Seam | Cont. Standing Seam Trim
metal sales
manufacturing corporation D ate: | |
oy | " | PC.# COLOR ary DESCRIPTION
I~
' YOUR COMPANY NAME CONTACT PHONE # 6850__98 Dektites: See | 1| 2 ff 3 4 | 5 |
6850_98 Dektites: Size | 6 7 8 9
685001 _ High Heat Dektite: Size 3 5 8
PERSON PLACING ORDER 6460499 IMAGE Il CLOSURES 36"
o 6852406 COR-A-VENT MARTERIAL 4'
P.O. JOB NAME: ] 6460599 IMII CORBA VENT MATERIAL 36"
a 6462350 IMII 16" LOW PROFILE VENT 32"
SHPBY: |  Metal Sales Truck Jobsite wonom % 6403200 TITEBOND SEALANT
If jobsite is requested, please submit contract & map 6404129 URETHANE SEALANT
Will Call | | UPS | | LTL I Cg;?;” | 6403899 DBL BEAD TAPE 7/8 X 25'
66003 / 66005 TOUCHUP PAINT 20z (CF45 & PVDF)
Panels & Coil Standing Seam Trim 4121200 MS-HT UNDERLAYMENT 36" X 67'
PROFILE PROFILE CODES ARE 26G 6560102 HEMMING TOOL 20"
GAUGE GAUGE _P.C.#| COLOR | QTY DESCRIPTION Pitch Fasteners
COLOR COLOR 55974 13" STEP RIDGE / HIP COVER * pet COLOR an DESCRIPTION
Qt Length Qt Length 55947 CIA26 10" STEP RAKE * -
6013981 |only in #81 PERFORATED VENT DRIP -82110 1" WOODSCREW #10
55002 11" RIDGE / HIP COVER * 82110 1" WOODSCREW #10
55013 VENTED RIDGE COVER * 82112 1-1/2" WOODSCREW #10
55017 VENT DRIP 82112 1-1/2" WOODSCREW #10
55603 Z-CLOSURE 82113 2" WOOD SCREW #10
55022 PEAK FLASH (CIA26 PEAK) * 82141 1" METALWOOD #14 (FATBOY)
55018 W-VALLEY 1" * 82151 1-1/2" METALWOOD #14 (FATBOY)
53018 W-VALLEY 2" * 82158 2" METALWOOD (FAT BOYS)
55957 IMAGE Il STEP RAKEWALL 82201 1" SELF DRILLER (TEK)
55056 RAKEWALL 82203 11/2" SELF DRILL (TEK)
55954 IMAGE Il STEP RAKE 82307 12 X 3/4" STITCH (LAP)
50023 IMAGE Il RESIDENTIAL STEP RAKE 82307 12 X 3/4" STITCH (LAP)
55034 RAKE 82348 14X 7/8" STITCH (TEK)
55951 IMAGE Il RAKE 82348 14X 7/8" STITCH (TEK)
50026 IMAGE Il RESIDENTIAL RAKE 82409 1/8" POP RIVET
55065 EAVE (3" FACE) * 8243400 TRUSS HEAD WOODSCREW 3/4"
50022 RESIDENTIAL EAVE (2" FACE) * 8243300 ONLY GALVANIZED TRUSS HEAD WOODSCREW 1"
55073 EXTENDED EAVE (3" FACE) * 8243350 TRUSS HEAD WOODSCREW 1 5/8"
Flat Sheets 50024 RESIDENTIAL EXT. EAVE (2" FACE) * 8243100 PANCAKE WOODSCREW 1"
GAUGE GAUGE 55048 PITCH BREAK * 8243800 ONLY GALVANIZED PANCAKE WOODSCREW 1 1/2"
COLOR COLOR 55064 OFFSET CLEAT PANCAKE WOODSCREW 2"
Qt Length Qt Length 55060 CLEAT (FASCIA) PANCAKE SELF-DRILL 1"
- - 55052 COUNTER FLASHING
55054 REGLET FLASHING
55132 OUTSIDE CORNER
55126 INSIDE CORNER
55656 JAMB TRIM (1 1/8")
55138 BASE TRIM (1 1/4")
55118 SILLTO SOFFIT (1 1/2")
55114 SILL/ HEAD (1 1/2")
55062 STARTER
55654 SOFFIT MITER TRIM




	Text534: 
	Text535: 
	Text536: 
	Text537: 
	Text538: 
	Text539: 
	CheckBox39: Off
	CheckBox40: Off
	CheckBox41: Off
	CheckBox42: Off
	CheckBox43: Off
	CheckBox44: Off
	CheckBox45: Off
	Text540: 
	Text541: 
	Text542: 
	Text543: 
	Text544: 
	Text545: 
	Text546: 
	Text547: 
	Text548: 
	Text549: 
	Text550: 
	Text551: 
	Text552: 
	Text553: 
	Text554: 
	Text555: 
	Text556: 
	Text557: 
	Text558: 
	Text559: 
	Text560: 
	Text561: 
	Text562: 
	Text563: 
	Text564: 
	Text565: 
	Text566: 
	Text567: 
	Text568: 
	Text569: 
	Text570: 
	Text571: 
	Text572: 
	Text573: 
	Text574: 
	Text575: 
	Text576: 
	Text577: 
	Text578: 
	Text579: 
	Text580: 
	Text581: 
	Text582: 
	Text583: 
	Text584: 
	Text585: 
	Text586: 
	Text587: 
	Text588: 
	Text589: 
	Text590: 
	Text591: 
	Text592: 
	Text593: 
	Text594: 
	Text595: 
	Text596: 
	Text597: 
	Text598: 
	Text599: 
	Text600: 
	Text601: 
	Text602: 
	Text603: 
	Text604: 
	Text605: 
	Text606: 
	Text607: 
	Text608: 
	Text609: 
	Text610: 
	Text611: 
	Text612: 
	Text613: 
	Text614: 
	Text615: 
	Text616: 
	Text617: 
	Text618: 
	Text619: 
	Text620: 
	Text621: 
	Text622: 
	Text623: 
	Text624: 
	Text625: 
	Text626: 
	Text627: 
	Text628: 
	Text629: 
	Text630: 
	Text631: 
	Text632: 
	Text633: 
	Text634: 
	Text635: 
	Text636: 
	Text637: 
	Text638: 
	Text639: 
	Text640: 
	Text641: 
	Text642: 
	Text643: 
	Text644: 
	Text645: 
	Text646: 
	Text647: 
	Text648: 
	Text649: 
	Text650: 
	Text651: 
	Text652: 
	Text653: 
	Text654: 
	Text655: 
	Text656: 
	Text657: 
	Text658: 
	Text659: 
	Text660: 
	Text661: 
	Text662: 
	Text663: 
	Text664: 
	Text665: 
	Text666: 
	Text667: 
	Text668: 
	Text669: 
	Text670: 
	Text671: 
	Text672: 
	Text673: 
	Text674: 
	Text675: 
	Text676: 
	Text677: 
	Text678: 
	Text679: 
	Text680: 
	Text681: 
	Text682: 
	Text683: 
	Text684: 
	Text685: 
	Text686: 
	Text687: 
	Text688: 
	Text689: 
	Text690: 
	Text691: 
	Text692: 
	CheckBox46: Off
	CheckBox47: Off
	CheckBox48: Off
	CheckBox49: Off
	CheckBox50: Off
	CheckBox51: Off
	CheckBox52: Off
	CheckBox53: Off
	CheckBox54: Off
	CheckBox55: Off
	CheckBox56: Off
	CheckBox57: Off
	Text693: 
	Text694: 
	Text695: 
	Text696: 
	Text697: 
	Text698: 
	Text699: 
	Text700: 
	Text701: 
	Text702: 
	Text703: 
	Text704: 
	Text705: 
	Text706: 
	Text707: 
	Text708: 
	Text709: 
	Text710: 
	Text711: 
	Text712: 
	Text713: 
	Text714: 
	Text715: 
	Text716: 
	Text717: 
	Text718: 
	Text719: 
	Text720: 
	Text721: 
	Text722: 
	Text723: 
	Text724: 
	Text725: 
	Text726: 
	Text727: 
	Text728: 
	Text729: 
	Text730: 
	Text731: 
	Text732: 
	Text733: 
	Text734: 
	Text735: 
	Text736: 
	Text737: 
	Text738: 
	Text739: 
	Text740: 
	Text741: 
	Text742: 
	Text743: 
	Text744: 
	Text745: 
	Text746: 
	Text747: 


